AF RO RWNGE

=%

N HE T EDLEWM

BT -16SREHEEHETE

H 8 R A

B2 5% B8 BR AT )11 5]

A #3771 H SH06% 1 A9H
] A_ i _B TR S EE20]
1 Aéﬁﬁ% (B A)
T FEMmE  |EALEE0BEEX &R A W= & n ) EREOAE S| = "
g 2 | @Engmn | Olzomexdam | E T B [ E 7 5 [ & 3 8 A L= BE | gy Ty | BFLE R
BREAHEL 5629, 000 D. 2. ®
BASHMETE 5,900, 000 N w BENT AR5
B a1t 5,810,000 2. 0 =3
EES rASHEAM 5, 629, 000 2. ®
7,033,400 [IMABRIEHXSH 6. 000, 000 L 2. Q 6,191, 900
(6,191, 900) [FLE B R BE = & 7t 6. 400, 000 L 2. Q HRSUEAE
XS EILES 5. 700, 000 L 2. Q ﬁmﬁ& BA A
=R
[BHELDTE]
1 THEME] (X, AFLELEMEED 100901 10ICHET IREELHI L&, B4 EH
2 TEFRME] . AFLZLBHEED 100501 10ICHETIEEEE ( ) TRETH L, 01 SR RLE
3 TAHZE [F. AMLEAREL - -2HALLE CEBERIKZDSE) 288TH L, 02 THEERM
4 THASE) I, AMLENEBEL-HZNELLEN 1004901 10(CHNT 22EERHTIE, -
04 LHZTITEZDHBEY
2 INLNR=E » (Bfr: /M) 05 HEEBERABTE
£ THORETFOE = & T B . 06 HHIH®
B A B A Sesmpoam| PN E8 sz rr=RAaal + * B B | TEFO0RE
BEIT ZAR WA |RAEE L=174.5n 18R
R6.7.10 6, 191, 900 R6.7.10 R6.10. 24 W=3. 80m [8H3ET) 4%
. FEEOE T A=663.1m
% . . EREDE LN P -
i 5 EEL 8w len 58 I = B I 5% 0@ E gy 3 i B
148500 BEIT EAR BA  |ROEE =174 6m BB |- B EEED I ERRRCESBED
R6.10.4 (6,340, 400) | R6.7.10 R6. 10. 24 W=3.80m [&HET) & |zE
AT HAETS —1 - T A=663.1mi
z 3 -~ rE 2 & %f??%ﬁ%a R EEEEYE £ ' @ ® i
HRSUBEAE KRR
= @ BA AE S E—
= I % ZTHRZDMmTHIR = _ e
% = LELHE = n e B I E B I =% 0HE gy 3 i B
T = - . ER OB LIER P -
5 B ZE & H et e I = B I 5% 0 H B Py 3 i B
(EBLOIE]

1 TEESZE] (£, HE

WEEDBHERHEL. (

) RIZITEFRDRZHNEZRLHT D,




